
 

 

Answer on Question #51308 – Math – Statistics and Probability 

Business Week conducted a survey of graduates from 30 top MBA programs in the country. On the basis of 

the survey, assume that the (population) mean annual salary for male and female graduates 10 years after 

graduation is $168,000 and $117,000, respectively. Assume that the standard deviation for male graduates 

is 𝜎𝑚𝑎𝑙𝑒 = $40,000, and for the female graduates it is 𝜎𝑓𝑒𝑚𝑎𝑙𝑒 = $25,000. 

1. For a random sample of 64 female graduates, find the standard deviation of the sampling distribution of 

the sample mean. 

2. For a random sample of 100 male graduates, find the standard deviation of the sampling distribution of 

the sample mean. 

Solution 

1. In a random sample of 𝑛𝑓𝑒𝑚𝑎𝑙𝑒 = 64 female graduates,   the standard deviation of the sampling 

distribution of the sample mean is 

𝜎𝑀,𝑓𝑒𝑚𝑎𝑙𝑒 =
𝜎𝑓𝑒𝑚𝑎𝑙𝑒

√𝑛𝑓𝑒𝑚𝑎𝑙𝑒

=
$25,000

√64
= $3,125. 

2. In a random sample of 𝑛𝑚𝑎𝑙𝑒 = 100 male graduates, the standard deviation of the sampling distribution 

of the sample mean is 

𝜎𝑀,𝑚𝑎𝑙𝑒 =
𝜎𝑚𝑎𝑙𝑒

√𝑛𝑚𝑎𝑙𝑒

=
$40,000

√100
= $4,000. 

Answer: 1. $𝟑, 𝟏𝟐𝟓; 2. $𝟒, 𝟎𝟎𝟎. 
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